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3. (20%) You have the chance to make or buy P100 parts for resale. If you make the
parts yourself, you must purchase a new machine for $35,000. If demand is good,
which is expected 70 percent of the time, an $80,000 profit will occur on the sale
of the parts. With poor market conditions, $30,000 in profits will occur, not
including the cost of the machine. If we subcontract out the work, our contract
administration costs will be $5,000. If the market is good, profits will be $50,000;
for a poor market, profits will be $1 5,000. Use the decision tree for the make or

buy decision.




